w=[0 1 1 0 1  0 0 1];

A=1; 
%signal amplitude

p=1;
% bit period

T=length(w)*p;

N=T*1/p*100;

n = 0:1:N-1;
dt = T/N;

t = n*dt;

x=[];

j=1;

for i=0:dt:dt*(N-1)

    if rem(i,p)==0

x=[x w(j)*A];

if  i>0

    j=j+1;
end

    else

x=[x w(j)*A];

    end

end
subplot(221);

plot (t,x);

title(‘w=[0 1 1 0 1  0 0 1]’);

W=dt*fft(x);

f = n/T;

subplot(222);
plot(f(10:N/2),abs(W(10:N/2)));
title(‘Frequency spectrum of w’);

rs=[0 0 1; 1 0 0; 1 1 0; 1 1 1; 0 1 1; 1 0 1; 0 1 0; 0 0 1];

sw=[0 0 1 0 1 1 0 0 1 1 1 1 1 0 0 1 0 1 0 1 0 1 1 0];

p=1/3;

T=length(sw)*p;

N=T*1/p*100;

n = 0:1:N-1;
dt = T/N;

t = n*dt;

sx=[];

j=1;

for i=0:dt:dt*(N-1)

    if rem(i,p)==0

sx=[sx sw(j)*A];

if  i>0

    j=j+1;
end

    else

sx=[sx sw(j)*A];

    end

end
subplot(223);

plot (t,sx);

title(‘sw=[0 0 1 0 1 1 0 0 1 1 1 1 1 0 0 1 0 1 0 1 0 1 1 0]’);

SW=dt*fft(sx);

f = n/T;

subplot(224);
plot(f(30:N/2),abs(SW(30:N/2)));
title(‘Spread Spectrum’);

